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3. True.or False (If true, then prove it. If false, then give a counterexample.) If
H and K are subgroups of the group ‘G, then the intersection of H and K
is a subgroup of G.
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4. True or False (If true, then prove it. If false, then give a counterexample.) If
H and K are subgroups of the group G, then the union of H and K is a
subgroup of G. ke

‘{2/{5(’ ﬂ(’lC (3 a4 (’@"T//‘A /f/-f& 0?}1! {G?Cf t-—f(f/ﬂéﬁg

Vsng 70 e Huk -5 oTpip3 Gar s 711‘/"5
SD f/UK H w C[qe{ﬂj m:,c( Mz,s :5 /zof a yﬁjmcz/




